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WorG[ F’roblems

Read the following word problems. Set your numbers up in the boxes
and solve to find the sum.

Paul had a garden full of
vegetables. He grew 6,342 ;
green beans and 2,156 carrots.
How man tables d h
y vege es does he ‘ﬁ
have in total? ’

Ben won 5,245 tickets at the
carnival. James won 3,554
tickets. How many tickets did
the boys win at the carnival
altogether?

Savannah has 567 marbles in
her collection. Simone has 410
marbles in her collection. How
many marbles does the girls
have combined?

Sophia planted 672 roses in her
garden. Ann planted 217 yellow
elders in her garden. How many
flowers does the sisters have in =" '%

total? 1

There were 6,187 persons living on
the island of Eleuthera last year.
3,612 persons moved there this ¥

year. How many people are living £

1 on the icrland of Fleuithera in all?




